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	Input
	Input
	Output
	Output
	Input
	Output
	Mechanical
	 

	Situation
	Force
	Distance
	Force
	Distance
	Work
	Work
	Advantage
	Efficiency

	 
	(g)
	(cm)
	(g)
	(cm)
	(g-cm)
	(g-cm) 
	 
	 

	A
	 240
	 10
	225 
	10 
	2400 
	2250 
	 0.94
	 0.94

	B
	 130
	20 
	225
	10
	 2600
	2250 
	 1.73
	 0.87

	C
	105 
	25 
	 225
	10 
	2625 
	2250 
	2.14 
	 0.86


Input Work = Input Force x Input Distance 

Output Work = Output Force x Output Distance 


How does the work output relate to the work input

Mechanical Advantage = Force Output / Force Input 


What does the mechanical advantage of a lever tell you about what it can do

Efficiency = Work Output / Work Input 


Can you expect the efficiency of a machine to be over 100%? Why? Why not?

